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Question 6  (25 marks) 
(a) Let ∆ܥܤܣ be a triangle.  Prove that if a line ݈ is parallel to ܥܤ and cuts ሾܤܣሿ in the ratio ݏ ∶   ,ݐ
 where ݏ, ݐ ∈ ℕ, then it also cuts ሾܥܣሿ in the same ratio. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 

Given: 

Diagram: 

To Prove: 

Construction: 
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(b) In the triangle  ܥܤܣ shown below: |∠ܤܣܥ| = |ܺܣ|  ,90° = 4 cm,  |ܻܣ| = 3 cm,  ܻܺ ∥ ܼܺ ,ܥܤ ∥  ,ܥܣ

and |ܺܣ| ∶ = |ܤܺ| 1 ∶ 2.  
Find |ܼܤ|. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 ܣ

 ܥ ܤ

ܺ ܻ 

ܼ 

3 cm 4 cm 

Proof: 


